#3 Pre-Calculus Worksheet

Name:  ______________________
Logarithmic Functions 


Rewrite each expression in logarithmic form.
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Rewrite each expression in exponential form.
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Use the definition of logarithmic function to evaluate each logarithm.  NO CALCULATOR! HINT: set = x
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Solve each equation WITHOUT A CALCULATOR.
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Evaluate with the CALCULATOR.  Round to 3 decimal places.
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Use the change of base formula to evaluate to 3 decimal places with a CALCULATOR.  
SHOW YOUR WORK. 
	25.  
[image: image25.wmf]3

log5



	26.  
[image: image26.wmf]7

log4


	27.  
[image: image27.wmf]1

2

log15


	28..  
[image: image28.wmf]20

log0.125





Write an equation for each and solve.
	29. Uranium-235 is used to fuel a commercial power plant. It has a half-life of 704 million years. 

	A) How many grams of Uranium-235 will remain after 1 million years if you start with 200 grams?
	B) How many grams of Uranium-235 will remain after 4540 million years if you start with 200 grams?


	30. A certain bacterium used to treat oil spills has a doubling time of 15 minutes. Suppose a colony begins with 1 bacterium. 

	A) Write an equation to model this and use it to predict the population of bacteria after 55 minutes.
	B). A population of 8192 bacteria is sufficient to clean a small oil spill. Use your model to predict how long it will take the colony to grow to this size.


	31. The chane of having an automobile accident increases exponentially if the driver has consumed alcohol. The relationship ca be modeled by 
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 , where A is the percent chance of an accident and c is the driver’s blood alcohol  concentration (BAC).

	A) The legal BAC is 0.08. What is the percent chance of having a car accident at this concentration?
	B) What BAC would correspond to a 50% chance of having a car accident?


_1172994997.unknown

_1235722937.unknown

_1516628470.unknown

_1516628698.unknown

_1516628896.unknown

_1516629935.unknown

_1516628728.unknown

_1516628661.unknown

_1516628488.unknown

_1235723036.unknown

_1235723089.unknown

_1235723101.unknown

_1235723116.unknown

_1235723070.unknown

_1235723015.unknown

_1235722879.unknown

_1235722901.unknown

_1235722911.unknown

_1235722892.unknown

_1235722852.unknown

_1235722862.unknown

_1235722844.unknown

_1172994928.unknown

_1172994970.unknown

_1172994986.unknown

_1172994952.unknown

_1172994878.unknown

_1172994895.unknown

_1172994867.unknown

